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Unit:1
Numbers

Binary
Numbers
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Convert the following binary numbers to the decimal numbers:

(i) 11001 (if) 1111010 (iii) 110011101
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Convert the following decimal numbers to the binary numbers:

(i)8 (ii) 12 (iii) 63 (iv) 569
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Add the following binary numbers and check the result by converting them to decimal system:

(i) 10001 and 1101 (if) 10111 and 1111
(iii) 1000011 and 110100 (iv) 10000000 and 1011010
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Subtract the following binary numbers and check the result by converting them to decimal system:

(i) 101 from 110 (if) 11010 from 110101
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Binrry  Momieuication
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Multiply the following binary runibers and check the result by converting them to decimal system:

(i) 1001 and 101 (ii) 11010 and 111
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Divide the following binary numbers and check the result by converting them to decimal system:
(i) 101111 by 1M1 (ii) 1110101 by 1001

Also, write quotient and remainder in each case.
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